CMR

AN

INSTITUTE OF ‘
TECHNOLOGY USN | | LT | ] S
) _Improvement Test ) _ CMIR
Sub ENGINEERING MATHEMATICS IV (REGULAR) B Code’ I15MAT4! N
Date 30/05/2017 ~ Duration 90 mins Max Malks ISO ‘ Sem le Branch ECD EEAB ,
Questmn 1is compulsmy Answen any SIX guestions from the nest Marks OBE :
[Z.os = 1.96(two- Ea1l),1.645(one -tail} andzyy = 2.58(two-tail),2.33 (one-tail}] CO | RBT
If y'=2e" - p, p(0) =2, (0.1} = 2.010, (0.2) = 2.040 and »(0.3) = 2.090, find

L ¥(0.4) correct to 4 decimal places using Milne’s method and Adams Bashforth 08 | caont | 13
- method. Use the corrector formula twice. 7 __

) Given y'-xy'-y =0 with the initial conditions y(0) =1, '(0) = 0,compute y(0.2) R RRET

" and y’(0.2) using fourth order RK method.

R Use Modified Euler’s method to find y(0.2) correct to 4 decimal places solving the 07 jCdoLl 13

" equation y'=x—-y®, y(0) =1 taking h = 0.1, | |
- A machine is supposed to produce washers of mean thickness 0.12 cm.. A sample | 07 | C4015 | L3

4 . of 10 washers was found to have a mean thickness of 0.128 cm and standard _

" deviation 0.008. Test whether the machine is working in proper order at 5% level i

- of significance.(tps at 9 d.fis 1.26) B
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| A certain cubical die was thrown 9000 times and 5 or 6 was obtained 3240 times. |

On the assumption of certain throwing, do the data indicate an unbiased die? Use |
5% level of significance.

 In an elementary school-examination the mean ‘grade of 32 boys was 72 witha

An unbiased coin is thrown n times. It is desired that the relative frequency of the

appearance of heads should be between 0.49 and 0.51. Find the smallest value of n

i that will ensure the result with 95% confidence and 90% confidence.
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standard deviation of 8, while the mean grade of 36 girls was 75 with a standard
deviation of 6. Test the hypothesis that the performance of girls is better than boys?

67
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In experiments on Pea breading, the table gives the frequencies of seeds that were -
obtained. Theory predicts that the frequencies should be in proportions 9:3:3:1.
Examine the correspondence between theory and experiment,

(x2ps =782 at3d.f)
Round & Yellow | Wrinkled & Yellow

315 101

Round & Green Wrinkled & Green
108 32

Total
356
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A certain cubical die was thrown 9000 times and 5 or 6 was obtained 3240 times.
On the assumption of certain throwing, do the data indicate an unbiased die? Use
5% level of significance. '
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|
An unbiased coin is thrown n times. It is desired that the relative frequency of the |
appeatrance of heads should be between 0.49 and 0.51. Find the smallest value of n |
that will ensure the result with 95% confidence and 90% confidence.

In an elementary school examination the mean grade of 32 boys was 72 witha |

standard deviation of 8, while the mean grade of 36 girls was 75 with a standard
deviation of 6. Test the hypothesis that the performance of girls is better than boys.

In experiments on Pea breading, the table gives the flequencies of seeds that were |
obtained. Theory predicts that the frequencies should be in proportions 9:3:3:1, |
Examine the correspondence between theory and experiment,

(Xo0s =7.82 a1 3d.f)
Round & Yellow | Wrinkled & Yellow

Round & Green Wrinkled & Green Total

315 101 108 32 556

| State and prove the oﬁhogonal property of Bessel’s functlons
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| State and prove the orthogonal property of Bessel’s functions. C401.2
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